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Solving Systems of Linear Equations on the Calculator

1. Enter the first equation mio ¥;.

. Enter the second equation mto ¥,.

Q Hit GRAPH. JNo¥ r\QcWGLQj
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4. Use the INTERSECT option to find where the :I,IJ g =
two graphs mtersect (the answer). My=
2nd TRACE (CALC) #5 intersect g =
Maowve spider close to the mtersection. :;‘j g —

Hit ENTER 3 times.

. Angwer: x=2.6 and vy = 3.8 (2 é—'-"}g 8)

Solve each system of equations. Round all answers to the nearest tenth.
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g o calculator will ozﬁy accept entries that
start with y =, so we need to solve these equations
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1. Enter the first equation info Y.

2. Enter the second equation into Y. Tt Fott Fiots

3. Hit GRAPH. The graphs appear fo intersect s 1BRS 2T
OFF the window., We nced MORE x-values to the :3 g Eﬂ:x:"f}"s

right hand side of the graph. Go to WINDOW, Wy =
Increase the size of Xmax. Hit GRAPH, x$ o=
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4. Use the INTERSECT option to find where the ot i

two graphs intersect (the answer). C
2nd TRACE (CALC) #5 intersect Oops!! They don't cross in the
Move spider close to the intersection. window,
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